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B. Baseball Watching

2t 40l 93] St OI1E E= RAX(Q HES OAt2|9f 3TY +=2 LEH & QAT 0| 7tset 9| = 3%9 = 19683 74
O|Ct. &t MYHO0| OFE EE fIXIQ MECE 7St 19683742 Z<00 THaHA 93|7HK| HE|= stel 8 MH EHLCt
=of MdEH0| S8 fAX0M OFE 2 W 937K HE|= 3TY £9 = 2°9 = 10247tX|0[C}. M2t 10247HK THEH &
of MBS 7Kz Ml =9 &= folixd 927K HEl= stdel #5 & + UL 0[g A2 Hs +ofd AMUSEHE=
O(6"N)O|Lt

T



2016 FunctionCup / Solution

FH

< nn
ro
EH
N
10
7
o
mn
10

S0IM Q&8 E= max(A, B)7F X-1 O[SI0IZ A+B7} Y-1 0[5t EOITt. H7|7h YMEE Q&

30| Y47t FO{oF BT,

QIR{01A ZOIZI (max(A, B), A+B) FESS 7HXT E®ots x-EES(01 100,000 F7h2 y-EHES(0T 100,000 F7HS
L

L3 20 N+27HY x, vy &b U2b x-2ES9| ZEE ME xcliet y-2HESS & S yc[]E Ffobkl. IHH
ON"2)7H2l (i, j) =0 tiohM ([ O~xclil 1, [ O~ycljl 1) XA R0l U= BS 71EXI(A-B)E2 & DIlljIE ohiF
OF St

a2 0, j > 001 DIl = DI-1[j] + Dhlli=11 = DI-1{-11 + ((xclil, ycli]) ol A= HS2l 7I1SXIS &)o|1L 1 29| &
?0= Dlllj] = 00t

xcli] £ X { xc[i+1]0]22 yc[j] £ Y < ye[j+1]21 2E (X, Y)Hl CHoiM K&t HES2l A-B=2 &2 DIil[jIo|IEZ, 2E i, i
CHaH DILil[j] » 001% ol (xcli+1] - xclil) x (yclj+1] - yelj)E Cehz=H =t

AZEEEE O(N*2)0|Ht.

=
=)



2016 FunctionCup / Solution

D. Do Not Touch Anything
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E. Exchange Problem
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F. Fairies' Sorcery
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G. Grid Forest
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H. Hello World!
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Ignition

P, HRE ES THAES T H2 0/E7 oI Y2l
s TS2 AT S Of T B BRSO Z2ls AR T AGN =C B7IKIQ ATl Zojet 2Lk
SHH, IC B, CZ Zats 20| 19 ZHM0| CHEM, L= BJ} ER= H] Z2ls AZI0| b0l =5 Co} Bt o Zls Al

O[StOICt 7HH0| Eb= O ZA2l= AIZI0] x2tH, & BOIM 22 22 & x-btF EfR1 =& COA
BeEz HHA (x-b)+(x—c) = I8 M= & UL, 0] YA dli= x = (+b+c)/20|Ct.
O EEE ANXMECZ of= FHERY Z0IE BF FolH, 1 0l22= O(M)Q AEEE

SZ0|=-92 g12ES 086N O] 2= ¥ 7t9] 2[HE=S ot U, 24t =58 7IH2Z of¢ IVt B= O Zel=

|
AIZES ZHASHE O(N'3 + MN)QI AIZHSRER 2HE ofzet 4+ QL

==
=TT

SZ0|=-92 gieE, 2HEZ

_12_



2016 FunctionCup / Solution

4 TAO[7H S0 T 29 HE IotX] s O TA0[9] Fets Y2 ol =AY,

RA0|17F SRIOIE DHLEZ| FOf H2IE M2 T =B oEi7H [3, 4, 2, 1]012H3H, XIHe| M2 & 29| HEi= (3, 4, 2, 1]0IM
XEL 75!8 =2t 33t (=M BHHA| =0 +20] =,

2, 3, 4H 2|0 tiohM 2t R2lE 22 29| = 22 (2, 1], [3, 2, 1], [3, 4, 2, 1]0ICt oig 2| Z0 U= HE 2
= ’“'EIE 5 O Ze20 SRy, o el HiZ Okl = 2els= 1 Z2|=20y SIgH. Ot 2= 409 g2

(2)1, 3)2, 34, 4)2)2 AdS £ QlCt.

ofH ZHAI019] FefH=, THA0[7} SHI0IE o =0 B2E M= U 7HY ?0 A= 2o HSE 20| N & Al]2 LEf
LT A[1]=NO|xI, 2 0|2l ioff tHallM Afi]=Ali-1] or N+1-i O|C}. &£, AUM LEtL=E =52 WEX=L2 FEo 8 Bl

e
i
r=
1
e
>
o
1
2 0
oy}
rr
ne
L
ne
R
0[0
0 =

= = A
Q2= “FAOT} BHI0IS S S0 M2lS A ©f H2| BB 1Y E0| Qs elo) #S' SS OIKUOR = 4% B
S T I3 1 4¥ BES RIS 4 QU= FFQ 45 T8 3, 1 Z20| £58 MY Hots WACR g P& oL
21= NMN=1) =k | 21= = Ky =
UD Q= ot 0N e e a2 2"V oo, M2 MBS KU O QT HFel = 84 27 B0iS0
L S-2, -, 18 2|7} S MWL WQIChs HBE EHASP & 4 YOO 0= 0|0 YT Y= HE B=0| £}

o 4o
rx
Cf)

r

Iy, O|52|9| %‘JEES BT 22 §=20I0.

_13_



2016 FunctionCup / Solution
SHA=YE 0|Zot=0l, 1x+& DP H|O|Z DI[i]E TOtA Ot 20| FIo}Kt,

HO
Inu
rr
0%
HT
10
=ls
({1
C
i
[
_O'j
o
=
-0
it
rlr

- D[] : iZ BUE 2E 4% BZ XMOIM 2t BO| OsiA @S 4 Q= M2 RO 4 C[1], -, Clx2 7ag o, 20

So| & (H, i7t i-1, i-2, -, 12CH QIQICH= HEE ZA|)

D2 Tat= Hatrle DIV =2Y Dlil=Y] Dljlx 279 i ¢ N) olct, oi7|M Sl | ) -1, 5 ) =2, -, ) ) i+,
ji>1

301|A1 M2R FHo| £ o0jstH, M2 FEVt 0|0 YN U= FEY DeHH =« 22 715610 Dfijo| CaiFX]
CH ayb>c)d I dla]b]oiM M= M22 HE dslclldod Me M22 ZEs S==H7L ZaEX] 7] M0 ¢ A
I 22 Aoz Dli|E Fold Heo #e + At =X2l 52 DIS[0|T.

SHli2 Fal=S AMENEIH Dl|Z FoHe RS ONM2) AIZHERIZO| 7Hs5iCt
sljlli)2 7 I, YHHMQl woR J5HH AIZFRREIF ONM3)0IX|EE 6[][j—1], -, d[j]1]S £AMUZ FoHH ON'2) Al
ASTEO] ASSHCL 01 ) 71, ) 172, ) 2 SUM MRE HEel +8 DO ) 19t (7 H2e el

A0 2 J[HCIH AXXML A & 4 QICH B QN WSt Ziute= Y| AMEE= LHXE 7§ M2 27
(= (5x10°+4)" (mod 10°+7))2 ME X2 AaH=0t0F St olm §[5][i] < NOIER ZtS ¥R MEGHE SSICH

=H =

I_I 1

S| S

_14_



2016 FunctionCup / Solution

4, U7 OE 49 HEg B 429 w(inversion)? 7|H4tE TFoIAY.

2t IEQ 7|0 ciEoh= HEHS Ar, Az, Az, -+, A0 THSHA inversion =9 Z|Sgt=2 Xi,j E(A ) AOIE 1, OfLIEH 0) Of

¥

E(Ai > AOIH 1, Ol 0) = 1/4 [(Si > SOIF 1, OtEH 0) + (S » HOIHE 1, Ot 0) + (Hi » SOIH 1, OtEH 0) +

(Hi > HOI® 1, O™ 0)]0|Ct.

D=0, joil CHallA E(Ai > AOIE 1, OIE 0)2 #& 1/2 0Lz TS 4= UL S ( S Mf iE | AUl =28 7} §OH |
[

M

Tt MRIE QUOIRIE 7t i2 2 4 oD E(A ( AOIH 1, OFLIH 0)2] 0] 1/2 0|AfolCt.

oroF § = S M= Ei ¢ Y Mf iE | 0o =9 E(A ¢ AO|H 1, OFL|H 0)Q] Zt0] 1/2 0|Ato|Ct
M2tN, S/t X2 202 SJt 2O EJF A2 202 HslH 7|0HZH0| ACi7 ECH NHO| 2SS Mst S J|ohyte ¢
St= e O(N?) E= o<N logN)2 2 & 4 L},

=H =

I1=.n I

1
o

=tE, de|h

_15_



2016

FunctionCup / Solution

B2 {A, Aw, o, AJOIN 22 271 o2 B SESHTHEAE {A, Am, -
= {A, Am, -, AJOIA 22 27 2] B SEOHK| ZE=0H
0] d&E 0|Z0ol¢, 2= 19| &0l CholAM &= =7t 2 H SHG
o = U
BE24E {A, A, -, AJOIM 22 27 02 SHotA| OFLET

|

2 il

O] Z7totH ro| Z[SHgf2 WotK| 4ALE S7tett.
mol rof 7Y + 10|Ck 7|4 A2 GlOE =

AS SIOHLT, ro XGiZES ot -

=K

—_

I

=
=TT

o
H>
-+
ol

_16_

2 i+ HEZ 2 ZUHF0M S5 =sH O(N)Q

Ar+x}01l)\15

, o, AJOIME 22
Lrsz [[qu

SNER He 7

7t o2t ¢
27} 0f2
501 r-1+19)



2016 FunctionCup / Solution

M. Masonry Bridge
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